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”H:,w following table gives the joint distribution of x and y

X 2 3 7

1 10 25 05 40
3 30 15 - 15 0
Total 40 0 20 T

717 () Show the marginal distribution of x and y.

(b) Show the conditional distribution of y , given x =3.
'(c) Find the probabilities P(x<y) , PQx+y= 9).

Calculate the Karl Pearsons coefficient of correlation from the mo:oéwsm data:

X 110 1z [18 |16 |15 |19 [18 |17 m
Y 30 35 45 44 42 48 47 46
Hence meocmw the type of correlation .
: ; OR :
. -Fit the second order parabola to the data:
X 175 100|125  [150 |175 [200 [225
. Y 1.9 4.5 10.1 17.6 27.8 40.8 56.9
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